NCERT Solutions Class 12 Maths Chapter 2

Exercise 2.1

Question 1:

()
Find the principal value of 2).

Solution:

. i
sin”' (——] =y
Let, 2
Hence,

T
Range of the principal value of S (%) is [ 2’ 2]

(s
Thus, principal value of 2 6).

Question 2:
cos | —
Find the principal value of 2
Solution:
cos” | — |=y
Let, 2
Hence,
cosy=| 2
Y172

T
=Cos—
6

Range of the principal value of cos™ (x) j5 (0.7)

B
cos” | — |=|—
Thus, principal value of 2 6
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Question 3:

Find the principal value of ¢0S€€ "(2).

Let. cosec™ (2)=y
Hence,
cosecy =2

9
=cosec| —
6
Range of the principal value of

Thus, principal value of

Question 4:

tan”' (—\6)

Find the principal value of

Let, @' (—V3)=»

b

Hence,
tan y = —\/E
5)
=—tan| —
3
T
=tan| ——
-5)
tan™' (x)
Range of the principal value of
) tan~’ (—\B):[—
Thus, principal value of

Question 5:

. o cos”’ [——]
Find the principal value of 2

g 2)- [E
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1
21

cos| —=|=y
Let, ( 2]

Hence,

1
Goxy =

e
:cm[ﬁ_g]
(3]

Range of the principal value of cos™ (x) =[0,7]

(5
Thus, principal value of 2 3 ).

Question 6:

Find the principal value of @n ' (~1)

Let, tan ' (-1)=y
Hence,

tan ' (r) = [ ; ,;

Range of the principal value of

-1 T
- an” (-1)=-2
Thus, principal value of 4).

Question 7:

sec™ (i)
Find the principal value of V3

!
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2
sec 1[_] =y
Let, V3

Hence,

2
secsz
3

o

Range of the principal value of

sec” (x)=[0, x]—{%}

- (36
Thus, principal value of V3 6/,
Question 8:

fcot"(\/g)

Find the principal value o

Let, cot”” (‘/g) =
Hence,

COty=\/§

ol

Range of the principal value of cot™ (x) =(0,7)

cot"(\/g)=[%].

Thus, principal value of

Question 9:

cos”’ (—L}
Find the principal value of V2
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1
CoSy=——

NG

el
()
(2]

Range of the principal value of cos ' (x) =[0,7]

=3
cos” | ——= |=| —
Thus, principal value of 2 4.

Question 10:

£ cosec’ ' (—\5)

Find the principal value o

Let, cosec” (—\5) =y

Hence,
cosec y = =2

T

=—cosec| —
[ 4 ]

=cosec| ——

4

o cosec"l(x)=[—£,—
Range of the principal value of 2

o)

Thus, principal value of

Question 11:

5 1Y L1
) tan (1)+cos (~—j+ sin [__]
Find the value of 2 2)
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Let, tan”! (1) =x
Hence,
tanx =1

Therefore,

Hence,
1
cosSy=——
¥=73
5
=—C08| —
3
[=-3)
=cos| T ——
3
=
=cos| —
3
Therefore,

Hence,

Therefore,

Thus,
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tan™" (1)+cos™ [—l]+sin—‘ [_ll _r 2m
2 2, 4 3 6

_3n+8n-2m
12
O

12
3r

4

Question 12:

cos”’ [lJ +2sin™ [l)
Find the value of 2 2

Let, tan' (1)=x
Hence,

COSX =—
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Therefore,

Thus

g O

3
Question 13:
Find the value of 8in”' x=y_ then
(A) 0<y<nm B)
(C) 0<y<n D)

It is given that sin~' x =y

o sin x = [
Range of the principal value of 2 2
n m

<y
Thus, 2 4 2

The answer 1s B.

Question 14:
Find the value of tan"’ V3 —sec™! (—2)is equal to

(A) 0 (B) 3
id 2
©) 3 (D) 3

Let tan.l(“@) =
Hence,

tanxzﬁ

=0
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o tan'lx:[——,EJ
Range of the principal value of 22

tan—'(fs)z[g]

Therefore,

Let sec ' (—2)=y
Hence,

secy =(-2)

n
=—sec| —
(3]

E]
=sec| ——
=
J

T
= SecC ﬂ'——j

2:@]
=sec| —

o sec”'x=[0,7] —{E}
Range of the principal value of 2

2r
) _2 L
Therefore, See ( ) 3
Thus,
tan"' /3 —sec '(—2)=£—2—ﬂ
3 3
.7
3

The answer is B.
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